
AT WORK – 2-Drawer Lateral File

A GC

I

I

E

K

L

H D

F

G
D

E

B

A

K

B

H

D

J

F

L

Metal Plate-2pcs Stud-1pcAdhesive cover-4pcs

Adjustable Glides-4pcs

Screw 3.5x14mm-1pc

Long plastic hanger-2pcs

Bolt 4x12mm-8pcs

Strip tie-1pc

Hanger-2pcs

Short hanging rod-4pcs

Screw 4x25mm-1pc

Short plastic hanger-4pcs

AW-30818

J
 x 4  x 2

 x 2

 x 4

 x 2

 x 8

 x 2

M Key-1set

 Philips Screw Driver for 
B Bolt 4x12mm

E Screw 3.5x14mm

F Screw 4x25mm


	页 1

